Us(2).2 (mod 11)
blocks | defect matrix blocks | defect matrix
G 1 1 11 x 10 18 0 4402 = X211+, P21+
2 0 221 = X3+, P53+ 19 0 5281 = X234+, P23+
3 0 441 = X5,0, P5,0 20 0 6601 = X264, P26+
4 0 445 = X5,1, P51 21 0 4403 = 28,0, ¥28,0
) 0 991 = X6,0, 6,0 22 0 4404 = X281, P28,1
6 0 992 = X6,1, 6,1 23 0 8801 = X294, P29+
7 0 1101 = X747+ 24 0 9901 = X314, P31+
8 0 1321 = X9+, Yo+ 25 0 9902 = X33+, P33+
9 0 1102 = x11,0, ¥11,0 26 0 6602 = Xx35,0, ¥35,0
10=9 0 1103 = x11,1, 11,1 27 0 6603 = Xx35,1, ¥35,1
11 0 2201 = X124, P12+ 28 0 14081 = X364+, P36+
12 0 2202 = X144, P14+ 29 0 17601 = X358+, P38+
13 0 1651 = x17,0, V17,0 30 0 8911 = X40,0, 40,0
14 0 1652 = x17,1, 17,1 31 0 8912 = Xx40,1,¥40,1
15 0 1761 = X18,0, £18,0 32 0 17821 = X414, P41+
16 0 1762 = x18,1, P18,1 33 0 19801 = X434, Paat
17 0 4401 = X194, P19+
Block 1: | p10 @11 @20 ®2.1 160 Pi6,1 P250 ©251 P43,0 P43,1
11 =x1,0 1 .
1o =x11 1 .
101 = x2,0 1 .
102 = X2,1 . 1 .
1201 = X16,0 1 . 1 .
1202 = X16,1 1 . 1 .
3201 = X25,0 1 . 1 .
3202 = X25,1 1 . 1 .
10241 = X45,0 1 . 1 .
10245 = X451 1 . . 1
24301 = X46+ 1 1 1 1
w0 = L Y161 = 119,
p11 = 1o w250 = 310;
w20 = 109 w251 = 3102
w21 = 102 w430 = 905
w160 = 119; w431 = 9052




